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General Instructions :

1.

2.

»

Candidate must write his/her Roll Number on the first page of the Question

Paper.

Please check the Question Paper to verify that the total pages and total

number of questions contained in the Question Paper are the same as those

printed on the top of the first page. Also check to see that the questions are
in sequential order.

Making any identification mark in the Answer-Book or writing Roll Number

anywhere other than the specified places will lead to disqualification of the

candidate.

Write your Question Paper Code No. 69/SS/A, Set [A] on the Answer-Book.

(a) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu,
Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri,
Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
question will be yours only.

In case of any doubt or confusion in the question paper, the English version

will prevail.
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st T, 3q, U, ST, e, AT, %A, dalt], TUe!, 3(eaT, TS, ik,
Hiorgdt, St JaTelt, HHR, Twha o e

FHUT IT-f&Tent § feu U atem § ford fop a1 forg wwn & 3w fow w 2

(@) afe 3ma fa=dt wa ssht & Srfafes foret 3t=r v o I for@d &, @ Ui 1 gHgH | g9 anef
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This question paper consists of 49 questions in all.

All questions are compulsory.

Marks are given against each question.

Attempt all questions either from Optional Module-7A or Optional
Module-7B in all Sections.

Section—A consists of

(@) Q. Nos. 1 to 20—Multiple-choice questions (MCQs) carry I mark
each. Select and write the most appropriate option out of the four
options given in each of these questions.

(b) Q. Nos. 21 to 35—Objective type questions carry 2 marks (with 2
sub-parts of I mark each except Q. No. 21) and attempt these
questions as per the instructions given for each of the questions 21
to 35.

Section—B consists of

(@) Q. Nos. 36 to 41—Very short answer-type questions carrying 2
marks each to be answered in the range of 30 to 50 words.

(b) Q. Nos. 42 to 46—Short answer-type questions carrying 4 marks
each to be answered in the range of 50 to 80 words.

(c) Q. Nos. 47 to 49—Long answer-type questions carrying 6 marks
each to be answered in the range of 80 to 120 words.

(d) An internal choice has been provided in some questions. You have
to attempt only one of the given choices in such questions.

39 YH-0 U $eA 49 U Bl

aft g AR 2

Y& Y % 37k 3G gmd feu U g

(iv) @i @uel § Shfous uisg@-7A 31e@T 7B & At yeHl % IW <l
(v) Wus-AH
(@) ¥o Ho 1 H 20 T Sgohedld T &l Y& 1 [ 3% 2l Tk WA H U
T IR fosedi # @ oW wE fasen g for@)
(b) o Ho 21 ¥ 35 Th TS U &l YU o 2 37k & (1 37 Tt 2 Ju9m
Tfgd, Jo Ho 21 Wl Biga)| U Tu FHEIMHER Jo Ho 21 ¥ 35 & I foig|
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(vi) wWuE-a
(@) To o 36 W 41 T A TY-ITT Y 8, U & 2 b 7, TAh Pl N

308 50 Wsg H <

(b) ¥o To 42 ¥ 46 Th TY-IqNT Y &, TS & 4 37 @, YIS &l IW 50
¥ 80 Wl H ¢

(c) o To 47 ¥ 49 T U-ITT YH 7, IIH & 6 b &, IIh 1 KW 80
¥ 120 vIsGi ¥ <)

(d) T8 9 $ T 4 3naies fosheq WM foham o 81 TH WAl § 3! hae
s oo w1 & 3w foremr R

((1) Answers of all questions are to be given in the Answer-Book given to you.
aft gl % IW IRl & M IW-Yfeww H @ fod

(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the

students will read the question paper only and will not write any answer on
the Answer-Book during this period.

3G YH-TF I Ugd & fu 15 fime &1 gag fear w21 weA-u @ faar Que o
2:15 &9 fhaT M@ Qe 2:15 99 & 2:30 & dh B had Y-UF i TS 3R
39 37EMY % NH 9 IW-YREHl | g W 6l forat |

N

SECTION—A
wug-A
1. Who among the following have a well-recognized custom of nominating a
son or Palak for adoption? 1
(A) Jains (B) Muslims
(C) Parsis (D) Buddhists

frfeifiga § & foreh T8 g T80 o 7T Q3 A “UeTeh’ ol ATHG i 1 GloeaTd qou
foemm 87

(A) 9 (B) Hfem
(C) wREh (D) stg
2. What is the minimum age of a bridegroom for a valid Hindu marriage? 1

(A) 18 years (B) 21 years

(C) 24 years (D) 25 years

3y fog foarz & fofu ger it =maw oy foeaft St = ?

(A) 18 =d (B) 21 @4

(C) 24 a4 (D) 25 =
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3. Which religion is followed by Jews Community in India? 1

(A) Judaism (B) Christianity
(C) Islam (D) Jainism
WRA  A8G WS fhE €W 1 U L @7
(a) =gl et (B) g
(C) sET™ (D) S
4. Which one of the following is not a source of Hindu laws? 1
(A) Vedas (B) Judicial decisions
(C) Legislations (D) The Mahabharata
freferfan § & Bv-a1 fmg B &1 i @ 27
(A) g (B) =Rk i
(©) faurft g (D) wETaRd

5. Habeas Corpus means
(A) to have the information
(B) to award the punishment
(C) to have the presence of the detained person

(D) to issue an order to the Lower Court 1
@ yaEfie & 7Y 2

(A) AT qr (B) ©Ug &

(©) fewma # fau mu =afes &t sufeufa o (D) el stere@ S sy S wEn

6. Which one of the following is not a remedial measure? 1
(A) Compensation
(B) Specific relief
(C) Punishment

(D) Preventing the doing of wrong

fafafga 8 @S- U ITwRS T 27

(A)  eferfd (B) for TEd

(C) <Us (D) TeTdt B H ThAT
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7. Which one of the following is not a theory of punishment? 1
(A) Reformative theory
(B) Compensation theory
(C) Retributive theory
(D) Granting pardon to the accused
frafafea 4 @ *9-w1 e # fag= 7@ 27
(A) g fagr
(B) afefd forgr
(C) whiert fogr
(D) I I q91 JGH HEAT

8. Right to information is a
(A) Fundamental Right
(B) Constitutional Right
(C) Provision made by the Department of Personnel and Training
(D) Human Right 1
LCEINCC BERT
(A) T AfpR 2
(B) wifgenfies ferspr
(C) e wa ufvterwr faum gra ffda v o™ 2
(D) WHETIR &

9. Substantive law deals with the
(A) working of the government
(B) rights and duties of the public
(C) politics of the country
(D) working of the Parliament 1

sfgrel #rg frefafas & @ e w6 W % war 87
(A) TTHR HI R

(B) < % 3MfUehRi 3 el

(C) < h TSI

(D) THE <hl -t

338/5S/A/614 6 AR



10. Criminal law does not denote the activities against the

(A) State (B) Public

(C) Community (D) Pollution 1
S A FEfiRen § § Reas faeg ThfaREl @ @ qwn?

(A) TsF (B) ST

(C) §qcH™ (D) g7

11. Private law includes
(A) law of contract
(B) law of tort
(C) limitations on the exercise of governing power

(D) law of property 1
fsft s o o 2
(A) 3IFEY HT BT (B) @fd =% fem
(C) wmEa &t wReA & YA W (D) &I T I
12. The laws framed by the Parliament are enforced by the
(A) Legislature (B) Supreme Court
(C) Executive (D) High Courts 1

THE AT ST T HAT Bl B AT AT 87

A) TaenRes (B) Tai= =TSR
(C) wrIuTfeteht (D) 3= =™
13. Name the process used for resolving the dispute between two parties with
the help and aid of a third person to reach a negotiated resolution. 1
(A) Arbitration (B) Mediation
(C) Conciliation (D) Negotiation

39 WhAT 1 AW T NEH g el o o9 fo9ae @ gage o fou e de e
6 HERAT ¥ Th GHIEM W UGl S Feh|

INBREEIEE] (B) TEIEIAl
(C) @it (D) @t
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14. Under which Act has Lok Adalats assumed the statutory recognition? 1
(A) The Legal Services Authorities Act, 1987
(B) The Legal Authorities Act, 1987
(C) The Legal Services Act, 1987
(D) The Essential Services Act, 1987

HHA-H fUFREH % ARG Al Gl Hl HAUTHH =T JH s 8 7
(A) fafore gemd wferestor srfafem, 1987

(B) faferes wferemtor srfufrm, 1987

(C) faferes zamd srfufem, 1987

(D) v dand srfafem, 1987

15. Who among the following was the Chairman of the Drafting Committee of

the Constitution? 1
(A) Dr. B. R. Ambedkar (B) Dr. Rajendra Prasad
(C) Jawaharlal Nehru (D) Mahatma Gandhi
frfafga & @ =4 dfqgm $i v afufa &1 g oare
(A) o dfto R0 TETH (B) Bfo Tl &g
(C) SR H&& (D) W@ et
16. Which one of the following words is not included in the Preamble of the
Constitution? 1
(A) Justice (B) Equality
(C) Liberty (D) Diversity
fretfefga § @ w-a1 wsg R Efaum 6 wedE J e @ R
(A) =3 (B) &HMEdT
(C) Tad=dT (D) fafaean
17. How many freedoms are guaranteed by the Right to Freedom? 1
(A) Five (B) Six
(C) Seven (D) Eight
WAAdT o HATUHR o F-dTd feohal AT T & 7
(A) dt B) B
(C) =md (D) 318
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18. Which Article deals with the Right to Constitutional Remedies? 1

(A) Article 30 (B) Article 31
(C) Article 32 (D) Article 33
HH-HT ITeDe G Ul & IR ¥ Fefud 87
(A) =g 30 (B) 3T=dq 31
(C) IT=ae 32 (D) 39=8¢ 33
19. How many members are nominated by the President to the Rajya Sabha? 1
(A) 6 (B) 8
(C) 10 (D) 12
Tgafd, TTEAT o fohas deEAT I ATHA HLd & ?
(A) 6 (B) 8
(C) 10 (D) 12
20. Who among the following appoints the judges of the Supreme Court? 1

(A) The Prime Minister

(B) The President of India

(C) The Parliament

(D) The Speaker of the Lok Sabha

frefafaa & @ o1 ddi= =EeE % e w e s 80

INEREICLE] (B) WRd @1 UgUfd
(C) @wg (D) <A 3eT
21. Match the following correctly : V2x4=2
Column—A Column—B
(a) The Indian Divorce Act, 1869 (i) Parsi tradition
(b) The Indian Succession Act, 1925 (i) Jews tradition
(c) Avesta (i) A Jews personal law
(d) Kaseph Kiddushim (iv) A Christian law
frafafgd #1 w& faem Hife -
FTH—A FHiTH—B
(@) YRR qere A=, 1869 () IR T
(b) R IR e, 1925 (@) FEG T
(c) AT (i) &G Tt e
(d) FE% freghm () FEE B
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22. Fill in the blanks : 1+1=2

23.

24.

25.

26.

Muslim law does not the doctrine of

qfea™ s ED HI TE A=

Fill in the blanks : 1+1=2

Public interest is in consonance with the objects enshrined in
Article

SHfed _ WRd dfggH % Ageee _ § 3fgRea 3wl % w9 Bl

Write True or False : 1+1=2

(a) Intoxication is one of the defenses in Criminal law.

(b) Mental disorder cannot be used as a defense in Criminal law.

&l A e faRew

(%) IAUH HET | A9 s96@l § § Th 9919 &

(@) e & # formfl @ust & s=E % ' 6 JE @ R S dehdnl

Write True or False : 1+1=2

(a) Criminal law deals with the disobedience of the rules of the State.

(b) Substantive law defines the crime and their remedies.
EEERIRI R TICLE

(%) URIF BT TSI F HMAI & Igod W S w8l

(@) ARERY ST Y T Ik ITIR bl IR HLT 2|

Write True or False : 1+1=2

(a) Public law deals with issues which are not related to individuals,
citizens or the States.

(b) Public law is concerned with the powers and duties of the government
officers.

g a1 e faRew

(%) W BT 3 &I W R Hd & A SARKAT, ARG G TS & Faied T& 8|
(@) ©ieh I G el & sl td witedl @ grg g 8
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27.

28.

29.

30.

31.

Fill in the blanks :

Procedural law prescribes methods of rights and obtaining

their invasion.

for T w1 9iE

1+1=2
for

JshaTcHeh T SR h & A fafyr 3T 37k Igem <t fearfa & T

o Teh Tuff@ #d &l

Write True or False :
(a) Lok Adalats provide quick justice at a low cost.
(b) Lok Adalats are run by the Gram Panchayats.

g a1 Tea fafee -
(%) i IACAAd HH Hid W fig =A™ YeH Bl &8
(@) o 3TeTodl T HeTe U U=Ed il 2l

Fill in the blanks :
Negotiation is another form of for resolving the

o Ml * ’TF{'Q :
el (AEEd) . FA A EG 1 Tk 3 Y 2

Answer the following questions :

(a) Which amendments empowered the Parliament to
Fundamental Rights?

1+1=2

1+1=2

1+1=2

amend

(b) Originally how many Fundamental Rights were enshrined in the

Constitution of India?

ffctRgd weAl & 3T fAIRaT

(%) HHF-H TG 4 TG DI Uik AURRT H TG L w1 AR feam or?

(@) Y § YR d@fqes § qo ®9 @ fhad diferss Afuer oot 97

Write True or False :
() Fundamental Rights are non-justiciable.
(b) Right to Property is a legal right.

& A Tea fafew -
() difersr iR =mEETa & 8
(@) Trafd &1 AR TH HHEH ABR 2|

1+1=2
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32.

33.

34.

35.

34.

Fill in the blanks : 1x2=2

A person to be appointed as a of High Court must have years
experience of service in judicial office.

I AT HT s 8 ot =afeh o ure fereft =fres Ug W hTH K T EL
1 3V BT 1Y

Fill in the blanks : 1x2=2
The House of any State is called Vidhan Parishad.
fopelt T 1 * Hed ! faum aftaeg wed &

OPTIONAL MODULE—7A

Jehicash AigI—T7A
Fill in the blanks : 1+1=2
The Earth Summit was held at in the year
s ToHl &1 \RT
ad H geel THEEH I ST § fepan ma em
Fill in the blanks : 1+1=2
Kyoto Protocol is a measure undertaken at the level to curb the
emission of house gases.

B39 NE] & 3cHSd 1 hH H & AT FIE Telhid Teh T T foma
™ 3T R

OPTIONAL MODULE—7B
Jehicaeh Aigd—7B

Write True or False : 1+1=2

(a¢) Consumer Dispute Redressal Agencies have been established at three
different levels.

(b) The goal of consumer movement in India is to provide better services
to the traders.

338/SS/A/614 12 AR



gl a1 o fafaw
(%) Iuvichl foeme feamw wifFEt = 69 i w0 w earfia fesn w2y
(@) YR H 3IUMRRI e 1 o&d SAITNET ol Sga dai YeH T 2l

35. Fill in the blanks : 1+1=2
The Act, 2002 has been enacted to promote competition in
¥ 2002 ¥ sifufem = T vfrerat Ter e % fotu @y foham mm e

SECTION—B
Qus—-d
36. Explain any two differences between ‘Substantive law’ and ‘Procedural
law’. 1x2=2
‘s HEE SR UlshATHS HE h ofiE BIE @ R WY HIU|

37. Examine any two characteristics of a Constitutional Government. 1x2=2
fopet waeafr TR & Rl &t @aon i W il
Or / AYar
Highlight any two components of the Preamble of the Indian Constitution.
1x2=2
IRt Sfgam & yEaEr & frel @ steal ®1 I9PR hifdu)
38. Explain any four equalities guaranteed by the Right to Equality. Yox4=2
THHAT o SURR o T=0id JgH ! 5 fhral TR FHHaisT i me Hif|
Or / HYar
Explain any four freedoms guaranteed by the Right to Freedom. Yox4=2

Al o AR o T & T fohrdl TR Waadiati sl saredn hifa|

39. Highlight any two differences between the Lok Sabha and the Rajya Sabha.
1x2=2

ARENT 3 T o 9 i @ <R IR Hifog|
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40.

41.

41.

42.

43.

44,

45.

Examine the importance of the Right to Constitutional Remedies. 2

HAYTHS I o ARIHR & A 6l WG HIfT|

OPTIONAL MODULE—7A
Jehicash AigI—T7A
Explain the term ‘pollution’. 2

UGEUI' T(eg hl AT I

OPTIONAL MODULE—7B
Jehicdesh AigIA—T7B

Explain any two Acts which provide redressal in Unfair Trade Practices.
1x2=2

JFgfad HUER FaeR § ffaqfd JqH e 9 fhgl @ At & s Hifm)

Explain the importance of the ‘Personal law’. 4
‘TSt I T " T iR
Or / JAYar

Explain the sources of Hindu law.

feg &7 & @Al ol WE Hiv|

Explain any four defenses in Criminal law. 1x4=4
IR ST H fhdl wm s=mEl & =men i)

Or / 3AYat
Explain the two principles of Criminal law. 2x2=4

s T % @ fageal i e Hifs|

Explain any four areas to which Procedural law is related. 1x4=4

Ty fordl Om &= w Ty Hive 8 dfkarrs S e 899 2|

Analyze the original jurisdiction of the Supreme Court. 4

o e % ol &ATeR el foaveifya Sifu)

338/5S/A/614 14 AR



Or / AYar

Analyze the term ‘Judicial Activism’.

‘e Ffshaar ue w1 fawewu Hifsm)

OPTIONAL MODULE—7A
Jehicush AigI—T7A
46. Describe the composition of the National Green Tribunal. 4

T B feeme & @med &1 9 Hifsu)

OPTIONAL MODULE—7B
Jhicush AlgIA—T7B
46. Describe any two functions of the Competition Commission of India. 2x2=4

A et ST & fohdl @t /Il &1 U i)

47. Analyze the importance of ‘Right to Freedom’ guaranteed in the
Constitution of India. 6

T gfoae § feu U wdaar & iU’ & "Ew 1 faveww ifsu)
Or / 3AYat

Highlight any four Directive Principles of State Policy which are for the
economic and social development. 1%2x4=6

e 3 mrfees faem & 92 fopmdl wm o= & ifa fiewrs fagrai =t 39mr i)

48. Examine the importance of the different techniques of Alternative Dispute

Resolution (ADR). 6
Jenfeder foame gmu™ (ADR) 1 faftm dedienl & #gw & WAy
Or / JHAYar

Analyze the concept of Plea Bargaining.

woft st < Srauren w1 faveme Hifvw)

338/5S/A/614 15 LNATE AR« .r.0.



OPTIONAL MODULE—7A
Jehicush AlgTA—T7A

49. Explain any four important points of the procedure for the regulation
of hazardous wastes. 1Y2%4=6

AT R gere & fafEm 6 ufea % el Wr yHE faget W e il

OPTIONAL MODULE—7B
Jehicaesh AigIA—T7B

49. Explain any four methods to protect the interests of the consumers. 1%2x4=6

IUTHIST o f&ai il e & fordl =m adenl < = i)

* kK
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